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1. How many services are covered in 1.

FftamTe St T TRE SRiRm 2011 A

gg:lft;isgarh Lok Seva Guarantee Act B fhaeft Jarail o i R T 2 2
(A) 201 (A) 201

(B) 251 (B) 251

(C) 275 (C) 275

(D) None of the above (D) Iudred & IS

Indian Railways has signed

Memorandum of understanding with

2. SUIWTE WMET A B H & yRdig 1§ @

Govt. of Chhattisgarh to develop e sftenfies mferardt <t fasfer et 2
industrial corridors. BEEIGH RIS frarg ?
(A} 2 (A) 2
(B) 3 B) 3
(C) 4 ©) 4
(D) 5
(D) 5

The Simon Commission was boycotted
mainly because :

(A) British Govt. showed no
inclination to accept demand of
Swaraj

(B) The Commission did not cater to
Dalits needs

(C)} It was not accepting Muslim
reservation

(D) None of the above

3. ATEHA FHHIYH I AREHR 6T T H [

TR o7 L

(A) Tafen awr @ 1 wim =t qu =&
AT =18 T o

(B) mﬁmﬁmﬁg
&t foram o

(C) T STerwT <hi Tefiehrt 7ef o o
(D) SRiTa & & g 74




Who was the author of Geeta Govind ?
(A) Vidyapati

(B) Surdas

(C) Jaya Deva

(D) Mira Bai

The last month of Indian Calendar
based on Saka era is :

(A) Chaitra
(B) Magha
(C) Paushya

(D) Phalgun

The script used by the people of Indus
Valley Civilization :

(A) Has not yet been deciphered
(B) Was the vedic language

(C) Was depicted through pictures
and diagrams

(D) None of thése

The famous Ghana Bird Sanctuary is
located in :

(A) Jorhat
(B) Barpeta
(C) Nainital

(D) Bharatpur

FRESHERS NOW

(A
‘rfa Tifee’ % e $H § ?
(A) Termafa
(B) qwH™
(C) smea
(D) =it

. YT P SR W UK helwel F1 et

v e ag 7
(A) =

(B) ==

(C) uisr

(D) eI

férg et wvaran o I % SR I R IH
areft fofd

(A) o8 oo it 72 5 weht 2

(B) afder wrm oft

(C) Torit wa o=l °§ wefita foran strar an
(D) IRT | ¥ =S A

Wit = valt TRy et fRm 7
(A) SR
(B) s
(C) HHiaret
(D) ¥R
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8. The longestdam in Indiais :

10.

11.

(A) Bhakra Dam
(B) Nagarjun Sagar Dam
(C) Hirakud Dam

(D) Kosi Dam

As per Census 2011, the population of
Chhattisgarh is :

(A) 205 lakhs

(B) 215 lakhs

(C) 235 lakhs

. (D) 255 lakhs

What is the sex ratio in India as per
Census 2011 ?

(A) 914
(B) 927
(C) 933

(D) 940

‘Jarawa’ tribal is related to :
(A) Lakshdweep

(B) Andamans

(C) Srilanka

(D) West Bengal

FRESHERS NOW

8. YRd % G0 T HY 2 ;

10.

11.

(A) e S
(B) NI GFR S7Y

(C) ¥rrge =iy
(D) Sl =Y

2011 & SUET & TTER SHRATG
STEET €

(A) 205 e
(B) 215 v
(C) 235 @@

(D) 255 v

2011 Al SFIVET & SFTHR M 1 fom
J7gaTa foheT & 7

(A) 914
(B) 927
(C) 933

(D) 940
‘S’ ST et O g R 7
(A) S&rE

(B) i=H@




12. The local time varies from Greenwich
time at the rate of :

(A) 4 min/degree of latitude
(B) 4 min/degree of longitude
(C) 14 min/degree of latitude

(D) 14 min/degree of longitude

13. South Africa is largest producer of :
(A) Silver
(B} Gold
(C) Lead

(D) Tin

14. Which scale is used to measure the
intensity of earthquake ?

(A} Newton
(B) Metric

(C) Centigrade
(D) Richter

15. What are "Prairies" ?
- (A) A grassland avoid of trees
(B) A place in Australia

(C) Costal region (basin) of Amazon
river in South America

(D) A kind of plant

FRESHERS NOW

12. THfaa arg 8 g a9 g st W
S ¢

(A) 4 fome ufe Tt svarma
(B) 4 firre wfa ferft germm

(C) 14 fome wfey feuft svarma
(D) 14 fire gfa ferft zarm

13. <fewr snfem foraeT we et SeuTe R 7
(A) =t
(B) G
(C) =¥ (dm)
(D) f&a

14, g 1 dar o9 & ol = w duwn
IR TR e @ 7

(A) =&
(B) wife=
(C) ¥
(D) Tt

15. ‘Yol w7
(A) U g5 " &1 BTN

(B) 3rrgferan 3 ©F TR

(C) zftqwr sferT # omivm T F @@
T aT

(D) U YR T UTeY (Ge)
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16. What is “"pacific ring of fire" ? 16. ‘“Yufps f ofe v’ w0 297
(A) Forestfire (A TEE
(B) Valcano and earthquake (B) s 7o b
(C) Fire in oil wells (C) 3% it &
(D) Thermal power plant ' (D) e el

17. The tropic of cancer doesn't pass

through which of the following States ? 17. &% @ f=1 4 v v=a @ sy a1t

TSRl & 7
(A) Odisha (QOrissa)
(A) 3
(B) Guijarat
B
~(C) West Bengal (B) Torra |
(D) Rajasthan (C) ufeam samet
(D) US*YH

18. Which organisation is responsible for
exploration and mapping of minerals in 18. 9d A Wil 1 @ 9o afEem &

India ? ol #7 w we SeErht ® 7
(A) Geological survey of India (A) Fraerfme o3 s 3fem
(B) Survey of India (B) & = 3fear
(C)} Minerals Development & 3 > +rh
Corporation (©)
(D) TR 16 AW

(D) School of mines

19. T ¥m= A IR A SHif¥ee #§ qoRgE! ‘

19. The number of chromosomes in a

normal human body cell is : A : |
(A) 43 (A) 43
(B) 44 (B) 44
(C) 45 (C) 45
(D) 46 (D) 46




20. The gas used for inflating ballons is :

21.

22.

23.

(A) Nitrogen
(B) Hydrogen
(C) Helium

(D) Air

The Supreme Court of India struck
licences of 2G spectrum.

down
(A) 120
(B) 122
(C) 129

(D) 125

The Nobel Peace Prize for 2011 has
been given to women.

(©) 4
(D) 5

Who has been honoured with Jnanpith
Award 2011 ?

(A) U.R. Ananthamurthy
(B) Gopal Krishna Adiga
(C) Poornachandra Tejasvi

(D) Chandrashekhar Kambar

20.

21.

22.

23.
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A G 1
TeA et o Tord Forer T ot I et

AT g ?
(A) SIS
(B) TTEgINH
(C) wferam
(D) &=

Hat e g 2G WeeH & fFHad
g T R m e ?

(A) 120
(B) 122
(C) 129
(D) 125

A=t T R 2011 Tt wfenet &
fmmnd ¢ -

(A) 2

THdie gEER 2011 & e wemfa fomar
g 7

- (A) 7, IR, Tt

(B) TTraret e safen
(C) yol=z dsrat
(D) SEIER HER
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24. Who is the Chairman of National
Human Rights Commission ?

(A) Markandey Katju
(B) K.G. Balakrishnan
(C) S.H. Kapadia

(D) None of the above

25. Which of the following pairs is correct ?
(A} Kotamsar cave — Bastar
(B) Kailash cave — Surguja
(C) Jogimara — Raigarh

(D) Sitabenga - Kanker

26. Which of the following cities is not
located on the banks of Mahanadi ?

(A) Raigarh
(B) Sirpur
(C) Shivrinarayan

(D) Rajim

27. Where is the Railway Wagon (luggage)
repairing centre located in Chhattisgarh ?

(A) Rajnandgaon
(B) Bilaspur
(C) Raipur

(D) Raigarh

24.

25.

26.

27.
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U ATE AR ST o q0E FH 2 7
(A) AhSA eS|

(B) %.eh.m

(C) wd. wa. st

(D) Wﬁﬁqﬁéqﬁ‘r

faSeidasm e ?

(A) PRARTH - TR
(B) ORI H  ~ FST
(C) srfmryr - g
(D) Hasim - @i

g i @ wEmd & e w
TR ?

(A) TTE
(B) frgt
(C) RertrreroT
(D) s

TG B W& oM WO 3 el (60 g 7
(A) TsHTETTE
(B) AR
(C) TIR

(D) TaTg
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28. Which one of the following is largest | 28, = & & B U=y Tl we7 (St

(in area) wildlife sanctuary in H) F=1 JToft STeaned i © 7
Chhattisgarh ? (A) e firen
(A) Tamor Pingla (B) T B
(B) Samar Sot
(C) IEF=FAR
(C) Achanakmar
(D) @i

(D) Sita Nadi

29. K forig <9 wmm ad 2011 &5
29. Who is the recipient of “Shahid Vinod feen

Choubey Award 2011" 2 T

(A) Suresh Singh (A) g e

(B) Jyoti Patel (B) el wewt |

(C) Rajesh Kumar (C) TST AR
(D) femdie wehgn

(D) Vincent Lakra

30. According to the area Chhattisgarh 30. Soed g & 3w ¥ 28 Tl wdETE
State ranks among the HRTEEL 7
28 States of India.

A) 74
A 7 (A)
® st (B) 8 af
(C) gth (C) 9 af
. (D) 10th (D) 10af

*
10




31.

32.

33.

Which of the following Management

Institute is located in Chhattisgarh ?
(A) XLRI

(B) IiM

(C) Jamna Lal Bajaj Institute

(D) FMS

Who presented the annual budget for
year 2012-2013 in state assembly of
Chhattisgarh ?

(A) Amar Agarwal
(B) Brij Mohan Agarwal
(C) Dr. Raman Singh

(D) Lata Usendi

Which Constitutional Amendment gave
precedence to the Directive Principles
of State Policy over Fundamental
Rights ?

(A) 42md
(B) 44th
(C) 52nd

(D) 56"

11
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31. 7 4 @ =19 vy 959N s<dieng |
g ?

(A) TFH U, IR, IS,
(B) 3TE.313.UA.
(C) SO SATE SIS AN

(D) Tw.uH.TH.

32. 98 2012-13 &1 1 sole BAETg faa™
T & formes I v feem R 7

(A) ST ITET
(B) HIE SmaTe
(C) =i, v fi=
(D) e I

33. fopw dfaum s gro e R &
S ifer Frewen frgral =t alfan g ?
(A) 42 3f
(B) 44 af
(C) 52 &t

(D) 56 &t
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34. Which one of the following is not | 34, f=E A AN a2 ?

correctly matched ? .
(A) e - Ryaw aes
(A) Ravi Shankar — Sitarist

B) W.u%. - el
(B) M.F. Hussain — Tabla (B) g

(C) R.K. Narayan — Novelist (C) TR AT - IYTHRN

(D) Kaifi Azmi — Poet (D) St et - FRY

35. A candidate, to become a member of | 35. TS G 1 e S & R BO wemsh

the Rajya Sabha, should not be less i oy P & 7t S =R 7
than : .
) A) 21 T8 6
(A} 21 years of age * "
(B) 25 years of age (B) 254 # o3
(C) 30 years of age (C) 30 &t 371y
(D) 32 years of age (D) 32 i it =1y

36. In which context the bank rate is | 35 “‘§x =" %1 secrm g e § Fea
referred ? .

(A) The rate at which banks give
(A) T xR §% morar &

loans

(B) The maximum interest rate given (B) =& sAfbrham 3 it s R R s
on deposits % &7 ¥ fr S &

(C) The rate at which Reserve Bank .(C) I8 = g w vl fod 8% 3
of India gives loan to banks Fi 1 3om YT ¥

- (D) The interest rate which is
applicable in internati(fnal
transactions

(D) =271 1 78 T i o 3§
H e '

12
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37. Which of the foliowing is not a Central
Tax ?

(A) Income tax
(B} Customs
(C) Land revenue

(D) Gift tax

38. Which of the following Public Sector
Enterprises has been inciuded in
"Maharatna” category ?

) ONGC
) NTPC
) GAIL
IV) SAIL

Which of the following is correct 7

(A) I, land Il

(B) II, lll and IV
(C) I,land IV
(D) I, 1l and IV

39. 'ASHA'scheme is related to :
(A) Childless women
(B) Old age welfare
(C) Child Development

(D) Social Health Workers

13
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37. T4 @ =W o s waER A R ?
(A) IR
(B) ¥ I
(C) sure

(D) 398R =T

38. T4 @ form ardwe &5 3uwd =1 werE
&1 2oft % wifte feRm T R 7

) af.w.sh .
) o,
) <ft. w378, ua.
V) T8.1.378.14.

fddsnadia?
(A) 1, a3l

(B) I, HIa IV

(C) 1, IR IV

(DY 1, 13RIV

39. ‘AR e Hata R
(A) Ti-vam ufgematt &
(B) Tt SHedm
(C) s faema
(D) =\ Tareey sridaten d




40.

41.

Which one of the following is the first
private port in India ?

(A) Ennor

(B) Kandala
. (C) Pipavay

(D) Paradeep

Who won the French Open Tennis
Tournament 2011 in Men's Singles
event ?

(A) Roger Fedrer

~ (B) Rafael Nadal
(C) Andy Murray
(D) Novak Djokovic

42. Which player has played maximum

-matches in world cup cricket ?
(A) Ricky Ponting
(B) Sachin Tendulkar
(C) Jack Kallis
(D) Saurav Ganguly

43. Who will preside over Lok Sabha in

absence of both Speaker and Deputy
Speaker ?

(A) Member nominated by President

(B) Member elected by Council of
Ministers

(C) Member of list declared by Speaker

(D) Senior most memberof Lok Sabha

14

40.

41,

42,

43.

FRESHERS NOW

R EEAR B0
=1 § =17 w1 Squne WA ggen s
JeUTE 2 7
(A) TR
(B) =hroseT
(C) fruraa
(D) Wy

% A R wirafiar-2011 # ey o
wiR I % iR R ? 7

(A) TR HeW
(B) Tha -TeTel
(C) wodt |
(D) ek Siehifaeh

Torva = Torere 1 forw figed 2 waifos &9
Bag?

(A) Tehi gifén
(B) wfer drgerent
(C) e wferd
(D) ¥ geht

i (reag) TR fedt-vdiet (Sueasy)
T i srgufeala § < a9 < sreaar
FAHEAE 7

(A) Tgafa g0 B dee

(B) vt uitwg R 9T T wew

(C) vt g wifva = =1 wee

(D) <k |1 T GEY Ties g
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44, Grant in aid to the States from
Consolidated Fund of India is done by
whose recommendation ?

(A) Public Accounts Committee
(B) Comptroller and Auditor General
(C) Finance Commission

(D) Planning Commission

india is a Parliamentary democracy,
because :

45,

(A) President is not a member of
Parliament

(B) Members of Parliament are directly
electzd by the people

(C) Executive is responsible to the
Parliament

(D) There is a clear division of powers
between Centre and States

46. Prime Minister is Chairman of :
1) Finance Commission
2) Planning Commission
3) Naticnal Development Council
Which of the following is correct ?
(A) tand 2
(B) 2and 3
.(C) 1and 3
(D) All of them

15

45.

46.
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44, i 1 gtera 8 sl ) wwm sigem

Torerahl arTeram o o ST @ 7
(A) @ T |fafd

(8) P i e whers
(C) fomt sTRim

(D) AT S

(A) Tregafd wwe = wee T @

(B) THS % TR T §I0 To9d &9 4
IEEHECRIRS

(C) wrduifersrt wg o Wid IaErit

(D) g wd T=A1 & i wfFr &1 e
w9 ¥ seany forar may @

T e e R
‘1)%ﬁ3ﬂ?fFTW

2) FISHT SN 6

3) U faem afwe &t
feffaa i s aradta 7 .
(A) 132

(B) 2 3Tt 3

(C) 133

(D) Iudi qeft




47.

48.

49,

50.

How many Rajya Sabha (upper house)
members are from Chhattisgarh ?

(A) 5
B) 7
©) 9
(D) 11

Who should approve the ordinance
issued by Governor ?

{A) Parliament
(B) State Assembly
(C) President

(D) No need of approval

Which Veda has details of indian Music ?
(A) Rig Veda

(B) S2m Veda

{C) Atharva Veda

(D) Yajur Veda

Who introduced the gold coins in India ?
(A) Indo Greeks

(B) Shakas

(C) Parthians

(D) Kushans

FRESHERS NOW

A G AR
47. THWETE ¥ FA FRad TS0 O T 7
(A) 5
(B) 7
C) 9

(D) 11

48. gsaqTed g0 S SeAe o e g
3THIEA BT =R 7

(A) §&"

(B) T=A fagm @

(C) wgufa

(D) agqﬁaqﬁquﬁ

49, fora g dfga A wdfig i 8 7
(A) e
(B) wmag
(C) wrydag
(D) ageke

50. vRd ® 919 % fiaek foras 9@ fd 7
(A) seifier
(B) ¥+

(C) urfei=

(D) g

16
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51. Which of the following pairs is correct ?
(A) Hauz Khas — Firoz Tughlaq
(B) Siri Fort — |ltutmish

(C) Qutub Minar — Muhammed Bin
Tughlag

(D) Tughlagabad — Allauddin Khilji

52. Who was the last Nawab of Oudh ?
(A) Sa-adat Ali
(B} Sa-adat Khan
(C) Waazir Al

(D) Wajid Ali

53. Which of the following is not correctly

matched ?

(A) Govt.ofindia - Morley Minto
Act 1919 Reforms

(B) Cripps Mission ~ Year 1942

(C) Government — Provincial
of India Act 1935 Autonomy

(D) Cabinet — Year 1946
Mission Plan
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54.

55.

56.

57.

Which of the following river flows between
Vindhya and Satpura Ranges ?

(A) Narmada
(B) Tapti

(C) Gandak
(D) Godavari

Who was the first woman to scale
Mount Everest ?

(A) Bachendri Pal

(B) Phew Dorajee

(C) Aung Saang Su Kyi
(D) Yoko Ono

Who was the first European sailor to
reach India via sea route ?

(A) Colombus
(B) Robert Cook
(C) Vasco D'Gama

(D) Sir Thomas Row |

Which metal is protected by layer of its
own oxide ?

(A) Iron
(B) Aluminium
(C) Silver

(D) Sodium
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58. Following is needed for ignition

60.

1) Fuel
2) Air
3) Water
4) Heat
Which of the following is correct ?
(A) 1,2and 3
(B) 1,2and 4
(C) 2,3and 4
(D) 1,2,3and 4

Which of the following metal is mixed
with iron to manufacture stainless steel 7

(A) Aluminium
(B) Nickel
{C) Chromium

(D) Tungstén

The image of an object formed in a
plane mirror :

(A) is real
(B) is virtual
(C) can be obtained on screen

(D) is slightly shorter than the object

68. o & o P it smravereRar Bt @

1) 39

2) ag

3) v

4) w1

fddsnmadd?

(A) 1,233

(B) 1,234

(C) 2,33 4

(D) 1,2, 334

i R e Wi s S R
(A) STt

ERECT|

(C) wiftram

(D) Tw=A

60. e o I Bf Uk AR IO H ;
(A) ITEIfa® §
(B) mrd 3
(C) TR R T {3 &1 e B

(D) =g 1 gorT ® A B Al B
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61.

62.

63.

64.

Newton is a unit of :

(A) Work

(B) Energy

(C) Force

(D) Acceleration

Who founded "Face book" ?
(A) Steve Jobs

(B) Julian Assange

(C) Mark Zuckerberg

{C) None of the above

A train running at 60 km/hr crosses a
1.5 km long tunnel in 2 minutes. What
is the length of train ?

(A) 250 m
(B) 500 m~
(C) 1000 m

(D) 1500 m

Two third of 57 is more than one third
of 90 by :

(A) 8
(B) 38
(C) 30
(D) 28
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65. The difference between a number and
its seventh part is 42. Find the number.

(C) 49

(D) Cannot be calculated -

It some amount is to be distributed
between A, B and C in a ratio of 2:3:7,
and the total share of A and B together
is less than the share of C by Rs. 1,500,
then what is the share of A ?

66.

(A) Rs. 1,000
(B) Rs. 1,500
(C) Rs. 2,000

(D) None of the above

67. Aperson covers‘a distance of 50 kms in

8 hours. He covered some of the distance
by walking at a speed of 4 kmv/hr and
some distance on a cycle at 10 kmv/hr.
How much distance did the persons
covered by walking ?

(A) 10 km
(B) 20 km
(C) 30 km

(D) 40 km

65.

66.
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(C) 49
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fea fohe g 7
(A) . 1,000

(B) %. 1,500

(C) . 2,000

(D) ¥ & ¥ T

e Afd 50 forrdt 1 gt 8 = # e
2| 3o § go-Tewm 4 5. A, wfada #
THAR & ee st g T 3R %o e
arepd |10 T, oY, wieer &t war @
g o | 39 AR 3 Aew = frat gt
T e ? |

(A) 10 1‘%'5T rﬁ
(B) 20 f. .
(C) 30 Fs. .
(D) 40 . 1fi.




68. A personis having notes of Re. 1, Rs. 2,

69.

70.

Rs. 5 and Rs. 10. How many combinations
of different amount can be made ?

The difference of simple interest of two
banks is Rs. 5 on a principal amount of
Rs. 1,000 in two years. What is the
difference in the interest rates ?

(A) 0.25%
(B) 0.5%
(C) 1%

(D) 2.5%

If 18 persons can complete a job in
36 days, how many days 12 persons
will take to complete the same job ?
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(A) 16
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(A) 0.25%
(B) 0.5%
(C) 1%

(D) 2.5%

g & & @ w3 § 18 =uferd =t
36 fe ora B, St v R 12 =afs e
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(A) 72

(B) 54

(C) 24

(D) 18




A

71. Water drops are spherical due to which

of the following ?
(A) Viscosity of water
(B) Surface tension of water

(C) Continuous evaporation

(D) Abrasion of air

72, Thermostat is an instrument which :

(A) Switches off the electrical
devices

(B) Used for the measurement of

temperature
(C} Used for control of temperature

(D) Produces heat

73.
(A) to save from electric shocks
(B) to reguiarise the flow of current

(C) to break the circuit in case of

overicad or underioad

(D) Nothing as above

*
~
-~ '

Function of a fuse in an electric circuitis :
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74.

75.

76.

77.

Boycott of British goods is related to

‘which of the following Movement 7

(A) Swadeshi Movement
(B) Quit India Movement
(C) Non Co-operation Movement

(D)} Home Rule Movement -

From where the plants obtain carbon
for their carbonic substances ?

(A) From atmospheric carbon dioxide
(B) By absorbing carbonate from soil
(C) By absorbing carbonic substances

(D) All of the above

Polio virus enters into body by :
(A) Mosquito bite

(B) Tick bite

(C) Contaminated food and water

(D) Saliva and nasal discharge

The Rowlatt Act enabled the Govemment
to suspend the right of :

(A) Free speech
(B) Occupation
(C) Movement

(D) Habeas corpus
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e Y G g 7

(A) waRElt e

(B) Wid el &7
(C) &R JRIeH
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74,

75. UTGUT 3 el -eh YGTel I Hle sl o AT ?
(A) THSHE Fe SriTaTie @
(B) T2t & sramifve weie &
(C) firdh & sramiifa wreifen verell 4
(D) waft &

76. ifert Ty il & yaw wen €
(A) T3 & HIeA A
(B) =f=Et & HeA ¥
(C) gftw @ wd it A
(D) TR AR ieH w19 |

77. qcie TR A = a1 sifden Fefea gy v
! W foma o ?

(A) TEas et
(B) =TT

(C) AT

(D) st yeefteror
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78.

79.

80.

Match the List 1 and 2 and choose the
correct alternative,

List 1 List2
a)} White rust 1) Wheat
b) Redrot 2) Groundnut

c) Loose smut 3) Mustard

d) Tikka Disease 4) Sugarcane

(a) (b) () (d)

(A) 2 1 3 4
(B) 1 3 4 2
() 3 4 1 2
(D) 4 3 2 1

Who was the creator of fictional
character Sherlock Holmes ?

(A) Joseph Conard
(B) Rudyard Kipling
(C) James Joyce

(D) Arthur Conan Doyle

Rabindra Nath Tagore renounced his
“knighthood” as a mark of protest
against the :

(A) Chauri-Chaura Violence

(B) Jalianwala Bagh Massacre
(C) Hindu Muslim Riot

(D) Assassination of Bhagat Singh
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79. FeUHE forl a1 TREiiRR | SR B § 7
(A IR% BT '
(B)W@Fﬂ%ﬂ
(C) S sigg
(D) 3R F SiE

80. Uarsry &K A i ‘Tise’ i vedt
gt fhg wear & fatu 3 frgr o ?

(A) =0 = e

(B) STferTaTe SFT SRS
(C) feg gfem
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81. At which session of the congress the

82.

83.

84.

goal of complete independence for
India was declared :

(A) Delhi 1932
(B) Lahore 1929

(C) Mumbai 1934

(D} Nagpur 1920

Which was the newspaper published
by Indian Muslim League ?

(A) Quom

(B) Inquiab

~ (C) Star of India

(D) Bombay Chronicle

Satyagraha Samiti was formed during
Quit India Movement. Who was its

founding member ?
(A) Achyut Patwardhan
(B) Aruna Asaf Ali

{C) Sucheta Kriplani

- (D) Jai Prakash Narayan

Gandhi Iriwin Pact is also known as :
(A) Mumbai Pact

(B) Delhi Pact

(C) Poona Pact

(D) iKaranchi Pact

81.

82.
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85. Find the missing number 5, 8, 17, 33

129,
(A) 55
(B) 65
(C) 45

(D) 75
The computer system component that

controls and manipulates data in order
to produce information is called :

86.

(A) Key Board

(B) Microprocessor
(C) Monitor

(D) Mouse

Which is the First Indian State to pass
the Lokayukta Bill 2011 ?

87.

(A} Uttarkhand |
(B) Bihar

(C) Uttar Pradesh
(D) Jharkhand

88. 6M G-20 Summit 2011 was held at :
(A) New York
(B) Cannes
(C) Kyoto

(D) None of the above
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89.

90.

o1.

92.

The 19" ASEAN summit was recently
held at :

(A)- Kualalumpur

(B) Canberra |

(C) Jakarta

(D) Bali

Which country test launched first 3D
television broadcast ?

(A) USA

(B) China

(C) Australia

(D) India

Geeta Phogat who qualified for London
Olympics 2012 is related to which of the
following sports ?

(A) Wrestling

(B) Boxing

(C) Gymnastic

(D) Weight lifting

Union Government has raised interest
rates on post office operated small
savings like Monthly Income Scheme

and Public Provident Fund by what
percentage in 2012 ?

(A) 0.5%
(B) 1.5%
(C) 0.75%
(D) 1.75%

89.

90.
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93. Which legendary versatile Bengali
actor was selected for highest film

Honour-the Dada Saheb Phalke Award
for2012 ?

(A) Prasannajeet Chattarjee
(B) Soumitra Chattarjee

(C) Ranjeet Mallik

(D) Suvendu Chakravarthy

94. Sushil Kumar is related to which sport ?
(A) Boxing
(B) Shooting
(C) Wrestling
(D) Weight lifting

95. Which of the following State
Government imposed restrictions on

visit of foreign tourists to the areas
inhabited by tribals ?

(A) Chhattisgarh
(B} Jharkhand

(C) Odisha

(D) Andhra Pradesh

96. Where is the headquarter of
Chhattisgarh Revenue Board ?

(A) Raipur
(B) Durg
(C) Jagdalpur
(D) Bilaspur
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97.

98.

98,

100.

(
- (C) Rs. 58
(

‘The difference between the ages of two

brothers is 10 years. Fifteen years ago,

_ the elder one was one and half times

as old as the younger one. The present
age of the elder brother is :

(A) 45yrs.
(B) 30yrs.
(C) 35yrs.
(D) 20yrs.

if cost of 2 apples, 3 oranges and one
guava is Rs. 62 and cost of 5 apples,
6 oranges and 4 guava is Rs. 120, find
the cost of 3 apples, 3 oranges and
3 guavas. '

(A) Rs. 39
B) Rs. 46

D) Rs. 24

The price of book firstincreased by 10%
and then decreased by 5%, then the net
change in the price will be :

(A) 4.2% increase
(B) 4.5% increase
(C) 5% increase

(D) 5% decrease

Food gets cooked faster in pressure
cooker because :

(A) Heat doesn't escape from cooker
(B) Steam is hotter than boiling water

(C) Boiling point of water rises due
to the high pressure

(D) Water starts boiling at low
temperature in cooker
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